EAGRAROBREERT — 2 N— ABISH —F

2020&3R7H (£) 1[E+=R3H

R Xl

RESF 4t HETE] b

‘ [R1%] & ‘ [REBB] — | & (&) 12000 B

[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= S B 112, - . . EARG=E (ER)
N AR it 3 o 1(1_2)6 1-1 38.0| 88.2 | 1 (4_480) ok E%u%zt%
L:NZ—ka1—-X B:7HYHTT1v b e
;= 3 | EfhEd 1:13.4 4-2 38.6|81.3| 3 452 | FEllIFEZ (R’R)
2011|777 —hFE—=} # %53.0 ®) () | (8 HAL—ZF-2
R:ZyY—>b—A— B:T7ATLIE— HEBET7—L4
i —: B 3 | EHEBZ 1:13.5 6-5 38.3| 80.3 | 4 442 | tAFE (RR)
1 > ¥~—JlvLTFrq— 54.0 (3/4) +2) THE
LG4 T*rTv— B:LTF+—AQvIT74—FK =R E%E
> 4 3 | AR 1:13.8 2-4 39.1 | 78.1 6 496 | &ERM (EX)
4 o] ¥/ F—H %063.0 (1 3/4) () |EBERE
Lix e/ xEwx BINXIT—Y T EAtE
2 . s 3 | BEHFE 1:13.9 8-8 38.6| 76.9 | 9 424 | KBS (FH)
5/8l15| 3 ¥/ TA1 FE—F 54.0 (3/4) -2) A0AR
L:¥XF B:TATLERT ¥ e ]
3 3 | AHZER 1:14.4 2-2 39.7| 73.4 | 2 472 | BEEEHR (RR)
6 7| =N =/\— & 353.0 3) ) ERNISFE
T — W KTPYa—b Bia—S v XRE2— J—HrIr—L
o : = 4 3 | HHEEA 1:14.5 6-7 39.3| 722 | 5 466 | REE (ER)
7\7[13| XTF YIS 54.0 (1/9) oy | Bl
L:xXF B:T-sruiay [ a=bie]
s s 3 | IBEREK 1:14.5 15-13 [ 37.7| 71.1 | 15 | 458 |KMEEE— (i)
s 6| 7/NEY 54.0 ) Gy | F=x7 77 b
L:Er7FOvY B3/ /=T Edrtue]
AL 3 | FRAAHA 1:14.6 9-8 38.9|70.9 | 8 414 | DOEERNE (3E7M)
9 11 AL —=2ANIL > # ¥53_0 (1/2) 2) TUAHBAL
x40 BT7IRIICV I fisibie]
o # 3 | JIIXEA 1:14.7 14-13 [ 38.0| 69.5 | 14 | 442 |EEEE (XiH)
10/5|9| YA %53.0 (172 Cio) | BHEXR
Z:Z2kAYTUE—2 B:xOiANL A Bt
i 3 | FEERH 1:14.9 4-5 40.1| 69.6 | 11 466 |PARE (BR)
11814 b=73aNn7 54.0 (1 1/2) (12g) | BIUT > K (R)
R:IA>T7Fyvva B:YVa-XE82T0 ~—T7H5
=: S 9 4t 3 | HIEFXRK 1:15.0 10-10  [39.2| 67.8 | 7 418 | KER (FH)
12 5 FTa4x—70O7 A52.0 (3/4) (-6) ZEFZER
R:IA2>T7Fyvva B:TF1—THIX KIS
. BRERE F :15. — . . KIFRE (Eih)
13 3 HHS v K= 4 3 e 1 (135) 5 12-12 39.4 | 63.7 | 12 (i?g) s
R:yvAa7%x B:AAILIZTUR NSENTT—L
. 5 i 3 | BAA 1:16.1 13-13 | 39.6 | 58.9 | 13 | 300 |fcEEMS ()
14/ 5| 8 oI aF— 54.0 (3 1/2) (-12) HES
RL:b—t>ya—4> B:HIINLN—I Ebore]
e i 3 | BHED 1:17.8 11-11 48] 49.2 | 10 | 426 | AIREBZ (FX)
157 (12| FH7F - 4510 (51 9) (e |BRL-S27557
Rix4avk-5— B:h100-X KEHIS
@ 21 L
£ 49.5-38.0
NA> 24 L | 12.4-10.7-11.5-12.4-12.4-13.2
® I—F—@EBIERL
13—=7—
2a=5F=
== 4(7,10) (1,14)-(2,13)15-11,5,12,3-8,9,6
40—F— 4(1,7)10-(2,14)13(11,15)5-12,3-(8,6,9)
[ N5
B 4 130M9 714K 1-4 450 e E 1-3 1,020 EE 1-2-4 2,960
# B 4 110 2-4 370M B = 1-4 940M EH 4-1-2 8,200/
1 300 1-2 1,550 B H 4-1 1,150/
2 200M

ABRICOVTHRTEEERROODE, THEB LS,




